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( Objective )

Which of the following statement is not correct

a. Starch is a mixture of two polymers. b. S
¢ ) pom by (-1-4 glycosidic linkage.
Glycogen is an animal sugar Chitin is 4 polymer of N-acetyl
Co i i : d. e
structurally similar to amylose. glucosamine.

The following molecules A and B, are respectively:

OH
~7 "OH
HOH,C 7 /\
B e o HOEC/\O/
(A) (HO (B) HO %
OH OH
a. a-galactose and a-mannose b. B-galactose and a-mannose
¢. f-mannose and a-pgalactose d. P -plucose and a mannose
Oxidation of sucrose with HIOy will have the following, result
o, Consume 1 HIO; and produce | b. consume 3 IO and produce 2
~ HCOOH HCOOH
consume 3 HIOy and produce | d. consume 2 HIO; and produce 1
HCOOH HCOOH

Which of the following, statement is not correct about glycolysis?

There is a net production of 2 Overall process is an exergonic

equivalent of ATD. * process.
Conversion of phosphoenol pyruvate y Pyruvalte is the final product of
to pvruvale is an endergonic process. " glycolysis

Pick up the coenzyme not involved in redox reactions from the following:
NAD*, NADPH, TPP, CoASH

a. NAD* &TPpP b. NADPH, TPP & CoASH
c. NAD*®& NADPH d. TPP & CoASH

A

Full Marks: 70

Marks: 20
1X20=20

Cellulose is a polymer of glucose linked
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The name of the following amino acid is

NH
HO .

a. Tyrosine b. Methionine
c. Histidine d. Phenylalanine
The structure of tryptophan is
COOH
COOCH
a. m p, Hz2N )
HO 8 N
H
COOH

COOH
G d. H,N
mz 2 00

Penicilloic acid readily undergoes decarboxylation to give
a. Penilloic acid b. Penaldic acid
¢. Penicillanic acid d. Penilloaldehyde

What is the name of the following antibiotic?

NH
N S
- A T %
SN
@]
COOH
a. Penicillin b. Streptomycin
c. Ampicillin d. Amoxicillin

Antibiotic inhibiting, protein synthesis by binding with 505 subunit of prokaryotic
ribosome is
a. Tetracycline b. Aminoglycosides
¢. Clavulanic acid d. Chloramphenicol
Suitable reagent for the following reaction is
OH

O
N OH _resgent O/k/cm
.

s PCE b. PDC
¢. MnQO; d. DMP
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12. Oxidation of geraniol to geranial by PDC in DCM is an electron transfer process

involving
a. two electrons b. four electrons
c. six electrons d. eightelectrons

13. Product of the following reaction is
‘ MCPBA

i o— Product

et -
€ 2 1 d
(0]
(0]
14. Chichibabin reaction of isoquinoline gives the product of
a. Cl-alkyvlation b. C2- alkylation
¢. Cl-amination d. C2- aminution

15. The heterocyelic compound having highest pKaltl value is
- » (e}

() L,

16. The most reactive compound towards electrophilic substitution reaction is

o ) (L)

N
N ’//,C\ \
« (I . L\/\'L?
17. g I Ha/PtO,/AcOH 8
~ e ————
Product A is
a b.

) o e s —



l'\
i (j\

Product A is

19.

Which one is the product

a. RCOCH;
¢. RCOOH

20.

i,

OH

BaSO,

H,/Pd

b. RCHO
d. RCH=CHa

0 H,/Wilkinson's cat.

THF A
OH
b.
O
d.
4
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( Descriptive |

Time : 2 hrs. 30 mins. Marks : 50

[ Answer question no.1 & any four (4) from the rest ]

I. a.Explain what do you mean by inversion of sucrose? 2+3+2+1
+2=10
b. Discuss the structure activity relationship of penicillin.

c. Write the products of the following reactions.

H PCC DCM
o - ——*=" Product

PDC, CCM

|

Product

d. Write the product of the following reaction

/ — LAH

e. Write the products of the following reaction

CH; H,, Pd-C
Fd oSl i 45

2. a. What do you understand by mutarotation? Explain why 2x5=10
maltose undergo mutarotation but not sucrose?

b. a-glucose show specific rotation of (+) 112° and B-glucose
(+) 19°. Both these anomers of glucose exhibit mutarotation
and specific rotation shown when the equilibrium is
reached is (+) 52°. Calculate the percentage of a-glucose and
P-glucose at equilibrium.

Chemical tests of glucose shows the presence of -CHO
group, but IR spectrum of glucose does not show any peak
due to carbonyl group. Give reason.

2]

d. Write down Haworth projection formulae for (i) Sucrose
and (ii) f-methyl maltoside.
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Write down the structure of the reactant and the product

e.
formed.

Ac,0/NaOAc
Glucose 2 ?
a. Complete the following reaction: Write down the structures S+3+2
of A, B,C, Dand E. =
B Me;S0O,4 / NaOH HOIH®
r, water
Maltose —= A—2 o [ cC+D
(O]
MeOH/HCI
E

b. What is the full form of NAD*? What is its biological
function? Write a biochemical reaction involving NAD-.

c. ATPis involved in driving a coupled reaction. Hlustrate
with example.

a. What are the products formed when penicillin is 2434243
hydrolysed with hot dilute inorganic acids? Wrile their -
structures.

b. How will you establish the presence of the thiazolidine ring,
in penilloic acid obtained from penicillin? Explain with
chemical reaction.

c. Draw the structure of Cephalesporin C. To which class of
antibiotic does it belong?

d. Discuss the mechanism of action of Chloramphenicol.

a. Explain the determination of N-terminal residue of a 2+3+243
polypeptide chain. i

b. Wrile the structure of the dipeptide, Ala-Val and starting,
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0.

from this dipeptide give the synthesis of the tripeptide, Ala-

Val-Ser.

c. Write down the structure of A and B of the following

reaction

O

() C,oHsMgCl 4
é 2MsVig & H* (workup) 5

d. How Grignard reagents are synthesized? Show all the

reactions. Why Grignard reagent is soluble in ether?

a. Write the product of the following reaction with
justification
OH

. MnO,
L \[K —'EC'M”‘KCN" Product
e i e -

b. Identity the products A and B with reaction mechanisms of
the following reactions.

@)
Il ;
Ph \“.Ph i) KOH, EtOH refluxﬁ__ & __P_b(OAch

O ii) acidification

—

¢. Write the products (A & B) of the following reactions with
justification.

i
Ps LDA H,0
1 I —_— A — e —
S W PhSeCl, Excess NaOH
[ H,0, H,O-EtOH

a. Write down the products (A & B) of the following reactions

with explanation.

3+4+3

REXTR!
=10
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@ 1) "CPBA PPh,
= > A

N 2) conc. HNO,
conc. HySOy4

b. Identify the products (A & B) with explanation.
X 1 H

@Q\l 1)PhcoCl  NKOH g
4 2) KCN 2) Mel

¢. Write down the products (A & B) of the following reactions

with mechanism.

(1) ~_-OH 1) KO'Bu

1) "CPBA
. - - A [ j D B
N (2) #~coome (2) POCI3
Me COOMe
THF, reflux

a. Write down tiie structure of Wilkinson’s catalyst. Show the
detailed mechanism of Wilkinson’s catalytic hydrogenation
of alkene?

b. Write down structure of DIBALHL. Mention the product of
the following reaction

o]

L
~0 DIBALH
] = A

workup

c. Write down the product of the following reactions

s
(1) NH,NHTs _0 (i) NH;NHTs
B I ———— —_—= A
(i) n-BuLi (2 eq) (i) n-BuLi (2 eq)
L e iien - (i) DMF
8

S+2+3
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